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ch - PS
hp kW
m/min 3,8 22 46 1,9 11 23
2 2 297 m
t 5 5 2,5 10 10 5 33 24
m/min 0 — 40 0 — 80 0— 20 0 — 40
i 5 25 10 5 55 40,5 557 m

m/min  1,8— 7,4— 22 — 28— 42— 54 0,937 =211 = 14> 21 =27
t 5 5 5 375 25 125 10 10 10 75 5 25
m/min 3 — 12— 36— 46— 66— 88 15— 6— 18— 23— 33 —44
t 5 5 5 375 25 125 10 10 10 75 5 25

30 22 297m

50 37 557m

m/min 15-30 - 58 5 3,7
m/min 0—58(10t) 0—76(8t) 0— 100 (6 1) 55 4
wr/min 0—0,8 2x6 2x44
U/min
rpm 0—0,8 2x55 2x4
m/min 12,5-25 2x7 2x52
m/min 15-30 4x5 4x37
m/min 15-30 4x5 4x37
m/min 13,5-27 4x7 4x5,2
33 PC : 50 KVA -
400 V (+6% ~10%) 50 Hz il : 84/534 - 87/405
50 LVF : 70 kVA 50 LVF : 70 KVA
33 LVF 25 50LVF25 m/mn
Optima  m/mn Optima 881 +25% N
25% t * . .
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